SP211 1151 ExamMm 1 2001 NAME:

Define: Average velocity (prose form)

List two attributes of a wector

State Mewton's 20 Law in prose form. (THE NEWTON'S LAY
State Mewton's 3 Law in prose form.

oo

2. a) Given Tt =[1Wati+dm]{ +[2m -1m31]
(t) =

alt) =

Va0 ->25) =

b} Asamdshiprman's mind wandered while nmung the mile and one half, she
estitmated that she was rounding the curved portion of the track at constant speed of
4 My and that the track at that point was the arc of a circle of radiug about 32 meters.

(a1ve the magmtude of her acceleration and describe its direction.

For maximum credit and partial credit include free body diagrams,
force tables, equations of motions and SHOW YOUR WORK.

Z.
A force F is applied at 30° telow the horizontal to
push a 40 kg box across a floor for which pg = 0.25

..... F 307> and px = 0.2.
40 kg a. Find the masimum magnitude of F such that the

block does not begin to slide.
b. Find the acceleration of the box if the magnitude
of F iz held steady at 140 N.

4.

my = 100 kg, mz = 100 kg; 8 = 36877
ho friction

a. Find the acceleration of rmass m..

b. Find the tension in the string.
36.87°

over
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2. A surgical tubing water cannon (a large slingshot) launches a water balloon at 49 ™y,
and 36 877 abowve the horizontal from ground lewel in a test firing.
Launch time 1, = 03, g = 9.80 M52
a.] Give equations for the horizontal and wertical positions of the balloon as a function
of the time t elapsed after firing.  Launch point = (O, Om).
b} Give the equations for the horizontal and wertical components of welocity of the

balloon as a function of the elapsed tirme 1.
c.) Find type, the time requured for the balloon to reach the high point of 1ts trajectory.

d.) Find hpyee, the masmum height abowe the finng point for its trajectory.
e.] Find the range for this wrater cannon when fired over a lewel field at 36577

Extra Credit Sketch the corresponding v ws t curve below the given = ws f curve and the
corresponding = ws t curve below given that 2(0:z) = - 3 m and the v vz t curve
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